

# Find The General Solution: 3. Find The General Solution: $Y' + Y \sin X = 0$ , $Y'(0) = 1$ $Ty' + 2ty = Y$ $Y'$

Find The General Solution: 3. Find The General Solution:  $Y' + Y \sin X = 0$ ,  $Y'(0) = 1$   $Ty' + 2ty = Y$   $Y'$

Understanding how to find the general solution of differential equations is fundamental in advanced mathematics, physics, engineering, and many applied sciences. In this article, we will explore two important differential equations:  $Y' + Y \sin X = 0$ , with the initial condition  $Y'(0) = 1$ , and  $Ty' + 2ty = Y$ , with the derivative  $Y'$ . We will analyze the methods to solve these equations, interpret their solutions, and highlight key concepts that can be applied across similar problems.

---

## Understanding Differential Equations and Their Types

Before diving into specific solutions, it is essential to understand what differential equations are and how they are classified.

### What Is a Differential Equation?

A differential equation is an equation involving derivatives of a function and the function itself. They describe the relationship between a function and its rates of change, modeling phenomena such as motion, heat, growth, and decay.

### Types of Differential Equations

Differential equations are primarily classified based on:

- **Order:** The highest derivative present (first order, second order, etc.).
- **Linearity:** Whether the equation is linear or nonlinear.

The equations discussed here are first-order and linear, making them suitable for standard solving methods like integrating factors and separation of variables.

---

## Solving the First Differential Equation: $Y' + Y \sin X = 0$

This is a first-order linear differential equation in the form:

$$Y' + p(X)Y = 0$$

where  $p(X) = \sin X$ .

### Step 1: Recognize the Type and Write in Standard Form

The given differential equation:

$$\frac{dY}{dX} + \sin X \cdot Y = 0$$

is linear, first-order, and homogeneous, suitable for solving with the integrating factor method.

### Step 2: Find the Integrating Factor (IF)

The integrating factor  $\mu(X)$  is:

$$\mu(X) = e^{\int p(X) dX} = e^{\int \sin X dX}$$

Calculating the integral:

$$\int \sin X dX = -\cos X + C$$

Ignoring the constant (since it cancels out in the exponential), the integrating factor is:

$$\mu(X) = e^{-\cos X}$$

### Step 3: Multiply the Entire Equation by the Integrating Factor

Multiplying both sides:

$$\left[ e^{-\cos X} \cdot \frac{dY}{dX} + e^{-\cos X} \cdot \sin X \cdot Y = 0 \right]$$

which simplifies to:

$$\left[ \frac{d}{dX} \left( e^{-\cos X} \cdot Y \right) = 0 \right]$$

because the derivative of  $(e^{-\cos X})$  with respect to  $(X)$  is:

$$\left[ \frac{d}{dX} e^{-\cos X} = e^{-\cos X} \sin X \right]$$

### Step 4: Integrate Both Sides

Integrating:

$$\left[ \frac{d}{dX} \left( e^{-\cos X} \cdot Y \right) = 0 \right]$$

gives:

$$\left[ e^{-\cos X} \cdot Y = C \right]$$

where  $(C)$  is an arbitrary constant.

### Step 5: Solve for $(Y)$

Finally:

$$\left[ Y = C e^{\cos X} \right]$$

### Step 6: Apply the Initial Condition $(Y'(0) = 1)$

Note: The initial condition is given as  $(Y'(0) = 1)$ . To use this, we need to differentiate  $(Y)$  with respect to  $(X)$ :

$$\left[ Y = C e^{\cos X} \right]$$

Calculating  $(Y')$ :

$$[Y' = C e^{\cos X} \cdot (-\sin X) = -C \sin X e^{\cos X}]$$

At  $(X = 0)$ :

$$[Y'(0) = -C \sin 0 \cdot e^{\cos 0} = -C \cdot 0 \cdot e^1 = 0]$$

But this yields  $(Y'(0) = 0)$ , which conflicts with the initial condition  $(Y'(0) = 1)$ . Therefore, this suggests that the initial condition may require a reinterpretation or that the initial condition applies to a different variable or context.

Alternatively, if the initial condition is meant for  $(Y)$  itself, say  $(Y(0))$ , then:

$$[Y(0) = C e^{\cos 0} = C e^1 \Rightarrow C = Y(0) e^{-1}]$$

Since the problem states  $(Y'(0) = 1)$ , and the derivative at  $(X=0)$  is zero based on the general solution, perhaps this indicates a need for more specific initial data or an alternative approach.

---

## Solving the Second Differential Equation: $Ty' + 2ty = Y$ , with $Y'$

This represents a more complex, possibly variable-coefficient differential equation involving  $(t)$  and  $(y)$ .

### Step 1: Write the Equation Clearly

The equation:

$$[Ty' + 2ty = Y]$$

may involve notation variations, but assuming it's:

$$[ty' + 2ty = Y]$$

or possibly a typo, and the intended form is:

$$[ty' + 2y = Y]$$

or similar. For clarity, let's consider the form:

$$t y' + 2 y = 0$$

which is a typical linear differential equation.

---

## Applying the Method of Solving Variable Coefficient Equations

Assuming the equation:

$$t y' + 2 y = 0$$

which is a first-order linear differential equation in  $y$ .

### Step 1: Write in Standard Form

Dividing through by  $t$ :

$$y' + \frac{2}{t} y = 0$$

This is a linear differential equation with:

$$p(t) = \frac{2}{t}$$

### Step 2: Find the Integrating Factor (IF)

$$\mu(t) = e^{\int p(t) dt} = e^{\int \frac{2}{t} dt} = e^{2 \ln |t|} = |t|^2$$

Assuming  $t > 0$ , then:

$$\mu(t) = t^2$$

### Step 3: Multiply the Entire Equation by the Integrating Factor

$$[ t^2 y' + t^2 \cdot \frac{2}{t} y = 0 \Rightarrow t^2 y' + 2 t y = 0 ]$$

Recognizing the left side as the derivative of  $( t^2 y )$ :

$$[ \frac{d}{dt} ( t^2 y ) = 0 ]$$

## Step 4: Integrate Both Sides

$$[ t^2 y = C ]$$

Therefore:

$$[ y(t) = \frac{C}{t^2} ]$$

where  $( C )$  is an arbitrary constant.

---

## Summary of Solutions and Key Techniques

The solutions to the differential equations discussed highlight several common techniques:

- **Integrating Factor Method:** Useful for linear first-order equations of the form  $( Y' + p(X)Y = 0 )$ .
- **Separation of Variables:** When the differential equation can be rewritten as  $( \frac{dY}{dX} = f(X)g(Y) )$ .
- **Recognizing Exact Equations:** When the differential equation can be expressed as an exact differential, simplifying solution methods.

---

## Practical Applications of These Differential Equation Solutions

Understanding how to solve these equations has real-world implications:

- **Modeling Population Growth:** Using differential equations to predict future populations based on current data.
- **Electrical Engineering:** Analyzing circuits with differential equations representing voltage and current dynamics.
- **Physics:** Describing motion, heat transfer, and wave propagation through differential models.

---

## Conclusion: Mastering Differential Equations for Advanced Problem Solving

Finding the general solution to differential equations like  $Y' + Y \sin X = 0$  and  $Ty' + 2ty = Y$  requires understanding the underlying methods such as integrating factors, separation of variables, and recognizing exact equations. These techniques are essential for mathematicians

## Frequently Asked Questions

**What is the differential equation to find the general solution for in the first problem?**

The differential equation is  $Y' + Y \sin X = 0$ .

**What initial condition is given for the first differential equation?**

The initial condition is  $Y'(0) = 1$ .

**What type of differential equation is  $Y' + Y \sin X = 0$ ?**

It is a first-order linear differential equation.

**How do you solve the differential equation  $Y' + Y \sin X = 0$ ?**

It can be solved using an integrating factor or separation of variables, leading to  $Y = C e^{\{-\int \sin X \, dX\}}$ .

## What is the integral of $\sin X$ with respect to $X$ ?

The integral of  $\sin X$  is  $-\cos X$ .

## What is the general solution to the differential equation $Y' + Y \sin X = 0$ ?

The general solution is  $Y = C e^{\{\cos X\}}$ , where  $C$  is an arbitrary constant.

## How do we determine the constant $C$ using the initial condition $Y'(0) = 1$ ?

Since  $Y'$  is given and  $Y(0)$  can be found from the solution, substitute  $X=0$  and  $Y'(0)=1$  to solve for  $C$ .

## What is the second differential equation provided, and what type is it?

The second differential equation is  $Ty' + 2ty = Y Y''$ , which is a second-order nonlinear differential equation.

## What method is suitable for solving the second differential equation $Ty' + 2ty = Y Y''$ ?

It may require substitution or advanced techniques like reduction of order or numerical methods due to its nonlinear nature.

## How does the initial condition $Y'(0) = 1$ influence the solution of the second differential equation?

It provides a boundary condition that helps determine specific solutions when integrating or applying boundary value methods.

## Additional Resources

Find The General Solution: 3. Find The General Solution:  $Y' + Y \sin X = 0$ ,  $Y'(0) = 1$   $Ty' + 2ty = Y$

When exploring the realm of differential equations, the ability to find the general solution is crucial for understanding the behavior of various dynamic systems. In this article, we will delve into two specific differential equations:  $(Y' + Y \sin X = 0)$  with the initial condition  $(Y'(0) = 1)$ , and the equation  $(Y' + 2tY = Y)$ . We will analyze the methods to solve these equations, understand their solutions, and discuss the implications and applications of these solutions in various contexts.

# Understanding the Significance of the General Solution

Before diving into the specific equations, it's vital to comprehend what constitutes a general solution. In differential equations, the general solution encompasses all possible solutions, typically represented with arbitrary constants that account for the initial or boundary conditions. This allows us to model a wide range of behaviors within the system described by the equation.

Features of a General Solution:

- Contains arbitrary constants (e.g.,  $C$ ) to account for initial conditions.
- Represents the entire family of solutions.
- Facilitates understanding of the system's overall behavior.

Pros and Cons:

| Pros | Cons |

|---|---|

| Provides comprehensive understanding | May be complex to derive for nonlinear equations |

| Enables prediction of system behavior under various conditions | Requires careful handling of constants and conditions |

| Essential for modeling real-world phenomena | Not always straightforward to find explicit solutions |

---

## Solving the Equation: $(Y' + Y \sin X = 0)$ with $(Y'(0) = 1)$

### Type of Differential Equation and Approach

The differential equation:

$$\begin{aligned} & \left[ \right. \\ & Y' + Y \sin X = 0 \\ & \left. \right] \end{aligned}$$

is a first-order linear ordinary differential equation. It can also be identified as a separable differential equation because the derivatives and functions are multiplicatively separable.

Method: Separation of Variables

This method involves rewriting the equation to isolate  $(Y)$  and  $(X)$ :

$$\frac{dY}{dX} = -Y \sin X$$

which simplifies to:

$$\frac{dY}{Y} = -\sin X \, dX$$

This form allows direct integration.

## Step-by-Step Solution

1. Separate variables:

$$\frac{dY}{Y} = -\sin X \, dX$$

2. Integrate both sides:

$$\int \frac{1}{Y} dY = - \int \sin X \, dX$$

which yields:

$$\ln |Y| = \cos X + C$$

3. Solve for  $(Y)$ :

$$Y = \pm e^{\cos X + C} = Ae^{\cos X}$$

where  $(A = \pm e^C)$  is an arbitrary constant.

4. Apply initial condition  $(Y'(0) = 1)$ :

Note that the initial condition as given is for the derivative  $(Y')$  at  $(X=0)$ . To apply this, we need to find  $(Y')$  explicitly:

$$\left[ \begin{aligned} Y' &= \frac{d}{dX}(Ae^{\cos X}) = Ae^{\cos X} (-\sin X) \end{aligned} \right]$$

At  $(X=0)$ :

$$\left[ \begin{aligned} Y'(0) &= A e^{\cos 0} (-\sin 0) = A e^1 \times 0 = 0 \end{aligned} \right]$$

But the initial condition states  $(Y'(0) = 1)$ , which suggests that our initial condition may need clarification. Typically, initial conditions are provided as  $(Y(0))$  or  $(Y(0) = y_0)$ . If the initial condition is indeed  $(Y'(0) = 1)$ , then the solution must satisfy this derivative condition.

Given the current form:

$$\left[ \begin{aligned} Y' &= -Y \sin X \end{aligned} \right]$$

and the initial condition for  $(Y')$ , we can substitute  $(X=0)$ :

$$\left[ \begin{aligned} Y'(0) &= -Y(0) \sin 0 = 0 \end{aligned} \right]$$

which conflicts with  $(Y'(0) = 1)$ . Therefore, the initial condition might be a typo or needs re-examination. For the sake of the solution, assuming the initial condition is  $(Y(0) = y_0)$ , we can proceed.

---

## Final General Solution

The general solution to the differential equation:

$$\left[ \begin{aligned} Y &= Ae^{\cos X} \end{aligned} \right]$$

where  $A$  is determined based on initial conditions.

---

## Solving the Equation: $(Y' + 2tY = Y)$

### Type and Approach

The differential equation:

$$[Y' + 2tY = Y]$$

can be rewritten as:

$$[Y' + (2t - 1)Y = 0]$$

which is a linear first-order differential equation. The approach here is the integrating factor method.

Standard form:

$$[Y' + P(t)Y = 0]$$

where  $P(t) = 2t - 1$ .

### Step-by-Step Solution

1. Identify the integrating factor:

$$[\mu(t) = e^{\int P(t) dt} = e^{\int (2t - 1) dt}]$$

Calculate the integral:

$$\int (2t - 1) dt = t^2 - t + C$$

The integrating factor becomes:

$$\mu(t) = e^{t^2 - t}$$

2. Multiply the differential equation through by  $\mu(t)$ :

$$e^{t^2 - t} Y' + (2t - 1) e^{t^2 - t} Y = 0$$

which simplifies to:

$$\frac{d}{dt} (e^{t^2 - t} Y) = 0$$

3. Integrate:

$$e^{t^2 - t} Y = C$$

where  $C$  is an arbitrary constant.

4. Solve for  $Y$ :

$$Y(t) = C e^{-(t^2 - t)} = C e^{-t^2 + t}$$

Final general solution:

$$Y(t) = C e^{t - t^2}$$

where  $C$  is an arbitrary constant determined by initial or boundary conditions.

---

## Discussion and Applications

The solutions derived demonstrate how different methods—separation of variables and integrating factors—are tailored to the specific structure of differential equations. Both solutions are vital in modeling real-world phenomena:

- The first solution, involving  $(Y' + Y \sin X = 0)$ , could model systems where the rate of change of a quantity depends on a sinusoidal modulation, such as oscillatory biological or mechanical systems with damping or forcing terms.
- The second solution,  $(Y(t) = C e^{\{t - t^2\}})$ , can describe processes where growth or decay is influenced by quadratic terms, such as certain population dynamics or heat transfer problems.

Features & Implications:

- **Flexibility:** Arbitrary constants allow for initial conditions to be satisfied, making these solutions adaptable to specific scenarios.
- **Interpretability:** The explicit formulas enable analysts to understand the influence of variables and parameters.
- **Limitations:** Nonlinear equations or more complex boundary conditions may require numerical solutions or approximation methods.

---

## Summary of Key Takeaways

- Differential equations often require specialized methods—separation of variables, integrating factors, or substitution—to find their general solutions.
- The equation  $(Y' + Y \sin X = 0)$  is solvable via separation of variables, leading to an exponential solution involving  $(\cos X)$ .
- The linear equation  $(Y' + 2tY = Y)$  benefits from the integrating factor approach, resulting in solutions involving exponential functions with quadratic exponents.
- Understanding the structure and type of differential equations guides the selection of the solution method.
- Correct application of initial conditions is crucial for determining specific solutions from the general form.

## Final Thoughts

Mastering the process of finding the general solution to differential equations is fundamental in mathematics, physics, engineering, and other sciences. Whether dealing with simple linear equations or more complex nonlinear forms, the techniques highlighted in this analysis provide a foundation for tackling a wide array of problems. As you progress, exploring numerical methods and software tools will further enhance your ability to handle real-world systems that defy straightforward analytical solutions.

In conclusion, understanding how to approach and solve equations like  $(Y' + Y \sin X = 0)$  and  $(Y' + 2tY = Y)$  is an essential skill for anyone interested in mathematical modeling. With practice, these methods become intuitive, empowering you to analyze complex systems with confidence and precision.

## [Find The General Solution 3 Find The General Solution Y Y Sin X 0 Y 0 1 Ty 2ty Y Y](#)

Find The General Solution 3 Find The General Solution Y Y Sin X 0 Y 0 1 Ty 2ty Y Y

## Related Articles

- [D Question 1 3 Pts If Pizza And Tacos Are Substitutes, A Decrease In The Price Of Tacos Would Lead To](#)
- [Cash Account Balance During The Month, Warwick Co. Received \\$330,950 In Cash And Paid Out \\$279,300 In](#)
- [Exercise 4-15: Items Arrive From An Inventory-picking System According To An Exponential Interarrival](#)

[Back to Home](#)